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~ Note: 8Marks for each question, Answer five only.

Q1:

Q2

3

Q4:

Q5:

Q6:

A. Name the network devices depending on the OSI layers. Which one of them is
used for network segmentation? (5)

B. in mesh topoiogy the installation and reconnection of devices are difficuit.
Explain the reason. (3)

Compute the first and second DHCP renew request time (in hours) of an IP
with lease time 20 hours? What will be the device IP if there is no response after
20 hours?

Give the purpose for each of the following in an IP header
A)Fragmentation offset B) Flag C) Type of Service D) Protocol

Compute the needed time (in seconds) to transmit a 5 MB file in a 3Kb/s
connection.

A. Name the types of networks?. Which one is more secure? explain the reason.(

B. In mesh topology the installation and reconnection of devices are difficult.
Explain the reason.(y)

Write the binary representation of an IP header with IPv6, TTL=19, type of
service 6 and identification number=187. Note: write first 75 bits of the header,
and set the other properties to 'X'.
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Notice:
Answer all the questions, each question has 10 degree

Q1// Answer two of the following:

a- Describe in details the clustering

b- What are clustering methods?

c- What are the purpose of clustering ?

Q2// Answer one of the following

(a) What is the similarity? What are the metric used with similarity? why

it is used with data mining techniques?

(b) What are data? what is the knowledge? How data is transformed into knowledge?

Q3// (a) Give the purpose of using each type of the following (choose four):
a- scatter plots b- matrix of scatter plots  c-histogram d- box-plot e-logarithm
transform

Q4// For the following table

[id age | score

1 30 |10

2 15 |20

3 10 12

4 |25 [15

|5 40 16 |
6 ; 2

7 |15 |10

(a) Compute chi-square
M Give the scatter plot
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QI\ write program in visual c++ ianguage to read tow integer
number and swap between them and display the numbers after
swaps.(by using function (swap)and using pointer pointed to this
function).

Q2\ Find the output of the following:

L.int *pl,*p2;
int m=80,n=90;
pl=&m;p2=&n;
*pl1=30;
*p2=*pl;
pl=p2;
“pl=30:
Cout<<"m="<<m<<"  “<<"pn="<<np<<endl:

Z. char a="multimedia™:

char b="department™:
streat(a.h):

cout<<p<< - “<<h<<endl:

2. char str="hello,&world&™:
int n,c=0;
for( n=0;n<strlen(str):n++)

¥
[

iftispunct(str[n])!=0)
c=c+1;
1

]

Cout<<c<<endl:

4. char stel [ TOH="multimedia™

cout<<strchr(strl,’1")<<endl:

—~ I

r<<strstr(strl," med”)<<end
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Note//Answer for five questions only(8 mark for each one).

B/simplify the following expression

F(A,B,C) =T1(5.1,2.3)

"Q1//A/ Design the logic circuit for NOR gate from NOT & AND gates only, then write truth table for it.

Q2//A/What are the truth table for de-multiplexer, give an examples for it.

B/what are the types of shift register.
Q3//Find the results for the following
(4AB)1s + (2C1)ie

(431)s - (261)

Q4//Convert the numbers to equivalence
1.(ABD)¢ to binary.

2. (1110001), to decimal.

3. (532)¢ to octal

4.(10011)g to binary.

Q5//Answer for one only

A//Answer for one only.(6 mark)

1. Draw the block diagram ,truth table for (2 to 4 decoder). Then give an examples of decoder.

2. what are the D-Flip Flop, then draw block diagram truth table and circuit logic .

B//Find the 1's .2's complement for (101101)..

(2 mark)

Q6//Simplify the following ,then draw logic circuit for it.

F=(A+B+C)+AB+B'C

Dnﬁnﬁan

Lect.
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Note: the answering from four questions & for every question 15 marks

Q1:

Verify Stokes’ Theorem for the vector function F — yi— (x + z)j + yzk and the unit
square 0 SX<1,0<y<1forz=0
********************************************************************
Q2:

Computeffs(3xi + 2y7j) for the sphere x2 + yi+z2=9
********************************************************************
Q3:

Find the electric field due to a linear of total charge (q) and length (€) at distance (€) from the

center of the line.
I- Along the line.

2- Perpendicular from the center.
********************************************************************

Q4:

A positive charge (Q) is fixed at each of two opposite corners of a square. A negative charge
(q) is placed at each of the other two corners. If the resultant electric force on (Q) is Zero, how are
(Q) and (q) related?.

********************************************************************
Qs:

A large storage tank filled with water develops a small hole in its side at a point 16m below the
water level. If the rate of flow from the Jeak is 2.5><10'3m3/min, determine :

I- The speed at which the water leaves the hole.
2- The diameter of the hole.

***************************$*$*****$***$*********$******************
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- . Note: answer 4 questions only.

Q1: Convert the following numbers into the following equivalent numbering systems: (15
marks).

a. (10100101)2 into decimal.
b. (3FACE)16 into binary.
c. (34527)8 into Hex.
d. (2456)10 into binary.
e. (101101011101010)2 into Hex.
Q2:Perform the following mathematical operations: (15 marks)
a. (100010001101)2 - (110111011110)2.
b. (4EFC)16 + (673A)16.
c. (7134)8 - (2654)8.
Q3: Simplify the following equations using K-Map showing the truth tables and logic circuits:
a. Y=A'B+ ABC + AB'C' + C (Using SOP). (7 marks)
b. Y=(A+B").(A + B).(4" + B') (Using POS). (8 marks)

Q4: what do we mean by combinational circuits, give two examples with the truth tables and
circuit diagrams. (15 marks).

Q5:
a. Draw the block diagram of the priority encoder and write down the truth table in details.
(5 marks)
b. Draw the block diagram of the 2:1 multiplexer and write down the truth table in details.
(5 marks)
c. What are the main uses of Filp-Flops, give two examples. (5 marks) L
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Note//Answer for five questions only(8 mark for each one).

Q1//A/ Design the logic circuit for NOR gate from NOT & AND gates only, then write truth table for it.

B/simplify the following expression

F(A,B.C) = T1(5.1:2,3)

Q2//A/What are the truth table for de-multiplexer, give an examples for it.

B/what are the types of shift register.
Q3//Find the results for the following
(4AB)1s + (2C1)6

(431)8 -(261)s

Q4//Convert the numbers to equivalence
1.(ABD);s to binary.

2.(1110001);to decimal.

3.(532))p to octal

4.(10011)g to binary.

Q5//Answer for one only

A//Answer for one only.(6 mark)

|. Draw the block diagram ,truth table for (2 to 4 decoder). Then give an examples of decoder.

2. what are the D-Flip Flop, then draw block diagram ,truth table and circuit logic .

BJ/Find the 1's .2's complement for (101101)a.

(2 mark)

Q6//Si~=1¢y the following .then draw logic circuit for it.

F=(A+B+C)+AB'+B'C

Drﬂ%mr
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